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General Instructions :

1.

2.

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in the question
i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given to you.

All the questions including objective-type questions are to be answered within the allotted time and no
separate time limit is fixed for answering objective-type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

Write your Question Paper Code No. 63 /OS /1, Set -B on the Answer-Book.

(@  TheQuestion Paper is in English/Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the questions will be yours only.
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BUSINESS STUDIES

SEHRR AT

(215)
Time : 3 Hours] [Maximum Marks : 100
g : 3 9ue] [quiek : 100
Note: (i) All questions are compulsory.

(i1) Marks allotted for each question are indicated against it.

fdwm (i) e eifEm § |
(i) STk T T 37k 3T THA S T E |

1. The Standards of Weights and Measures Act was enacted in : [1]
(A) 1956 (B) 1986
(C) 1951 (D) 1937
A AY—AIet T el oIh] fohar T ¢
(A) 1956 (B) 1986
(C) 1951 (D) 1937
2.  Wage employment does not include : [1]

(A) Serving for wages or salary

(B) Contract between employers and employee

(C) Perform the activities under agreement

(D) Engaged in some business activity and manages it on his own
H I AR | T fed 720 @ ¢

(A) Wl A1 A & TG Al TGH HEAT

(B) fiiiar oiR et & sfie St

(C) wwgita ® fFeiRa feramai w1 Feaea

(D) whig HTE™ HEAT AUT T § TR T2 HEAT
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3. Who is the last link in the chain of intermediaries? [1]

(A) Distributor (B) Retailer
(C) Wholesaler (D) Consumer
neell Bt sien # orfw w A §
(A) T (B) e foshan
(C) ofreh ferehan (D) Sudren
4. Which of the following is not a public sector bank? [1]
(A) Corporation bank (B) State Bank of India
(C) ICICI bank (D) Bank of Baroda
7 % @ =i S g w SR R
(A) HURYA SR (B) Wz S 3tk gfegan
(C) 33 .38, 4. 31TE. ek (D) S ATE R
5. Capital required for paying wages and salaries is known as : [1]
(A) Block capital (B) Fixed capital
(C) Working capital (D) All of these
e iR TR 3 WM % T T Yol e §
(A) i g (B) wors st
(C) v dsit (D) Swrem Tt

6. Which one of the following is not the characteristics of Joint Hindu Family
Business? [1]
(A) Membership by birth
(B) Unlimited liability of Karta
(C) Unaffected by death of a member
(D) Youngest member of family is Karta
v 1 @ el T fig aRe e B ferdeen T 37
(A) S @4 W TSR0
(B) <hat = ifafia R
(C) Tt e 1 Ty & oo
(D) ufER 1 Ha@ FH A T T FHdl gl 2|
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7.

The industries engaged in building, roads etc. are known as : [1]

(A) Construction industries (B) Manufacturing industries

(C) Extractive industries (D) Generic industries

e, g gt 3 P s e §

(A) Fmfor gz (B) fafimtor sgzim

(C) forewton Tzitm (D) e e

Which of the following scheme design to boost sales in off season? [1]
(A) Coupons (B) Exchange schemes

(C) Free samples (D) Price-off offer

TSt & aAa |, foera gaeiE o foru S S 9SS g

(A) ®uA (B) =g faf= A

(C) gua Tt =t feremon (D) Hea d it i T

The insurance policy which protects the employer against loss due to dishonesty

of his employees is known as : [1]
(A) Burglary Insurance (B) Fidelity Insurance
(C) Liability Insurance (D) Property Insurance

e uferet At e @t 3ok UG St AgAM! | gHaTet g | Sl g T8 B ¢
(A) = s (B) Torvama s
(C) g = (D) uftwets =t s
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10.

11.

12.

13.

14.

15.

16.

The Primary responsibility of business towards its owners is : [1]
(A) Giving regular orders for purchase of goods

(B) To making maximum profit and Ensuring safety of their investment

(C) Providing Opportunity for better career prospects

(D) None of these

HEEE 1 AT ST o6 i TATHE I @ ¢

(A) ¥ s & foru fFafua w9 @ emew o

(B) atfereran ow a3 3k g fore @ fafem <6 gren giafvem s

(C) Ism SR & 3aE TeH AT

(D) Iures # & g T

What are the different modes of purchase? Explain. [3]
T & faftrm ugfaat et 22 awegu |
"Self-employment is better than wage-employment." Discuss [3]

‘TSR, Faa- ISR 9 AR ¢ foeremn At |

Write short notes on entrepreneurship. [3]
SgEwYieTal W Hiew fewuft feian |

What is ropeway transport? [3]
AU ufterga = 22

State any three limitations of a cooperative society. [3]
gt wfufa i fm=dl = dmstt @ sga Ak |

State the factors required for setting up the business. (any four) [4]

ST TATGAT % FoTU SATeveres HRehl 1 3g@ T | (S 9IR)
[=]%i[=]
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17.

18.

19.

20.

21.

22.

23.

24.

'Every consumer must demand a proof of transaction viz. cash memo etc. from
the seller while buying a product'. Identify the relevant consumer's responsibility
and explain it in brief. (4]

‘T IAIET hl, faehal | 3T 1 T A W, @9 3 & THOT JQ 6, FHyr fim sl H
HIT ! (U | TiId IUHIERT ST hi Ug ShifeTg a2t SR Heiu # guid Hifs |

What is land pollution? What are the causes of land pollution? (Give any three
such causes) (4]

W TGUUT R AT 27 W TGUUT & R HROT § 7 U TR iR ShRun S Sg@ iR |

Distinguish between public warehouse and Govt. warehouse. [4]

WA WER TE 3R TN WER T2 # 1=k He Hife |

Define retailers. State the functions of retailers. (any three functions) [4]

e o 1 W S | g R % e i | (A )

Why departmental stores are becoming more and more popular in Indian cities?
Give reasons. [5]

ARG % Il § fauniia Wer F4b i W 9 oiv siftes o B @1 @ ¥ 7 @ won swEnsu |

State any five importance of postal services. [5]
BTk V1Sl % g Uia Hged Sarsy |
Define consumer. Write any three responsibilities of A consumer. [5]

YU Sl TRATG HIU | SUHTT ht kg Wt di= e falam |

Define sole-proprietorship. Write any four features of sole-proprietorship. [5]

Tehel T1THd <hl TRATHT ST | Tehet TTTHe <hl Shig R feoiwaent <t fofam |
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25.

26.

27.

28.

29.

30.

Give a short description on "E-mail". [5]

3-HA o 9LU H qUM HC |

Whether advertisement is necessary for business? Discuss. [6]

1 fermo saE™ & T steveaes @2 fam=mn hifsu |

Why is consumer protection required in India? Discuss [6]

WRA | ST TREAUT hY ATaeThdl 1 ¢ ? T R |

What is Joint Stock Company? State any four advantages of Joint Stock
Company. [6]

e Uit St 31ef SA1SU | WYE Ush wroHt o Rl TR et o sg i |

Distinguish between economic activities and non-Economic activities. (any three
point of difference) [6]

ffeR 3fi TR foRamall H arer waTST | (3R IS A fareg W)

Explain briefly any four advantages of KPO. [6]
T UfshAT EAIERIUT & i3 TR Al Rl §8T § Ui hifu |

Clodos

[=]%i[=]

63/0S/1-215-B] G931 8 g



